[ RecoPVAssoc2GenPVMatched_PullX ]

[ RecoAllAssoc2GenMatched_PullX ]

| RecoAllAssoc2GenMatchedMerged_PullX

> = (/110_2 -| Entries 0
o S 8 :| Mean 0
5 10_1:_ 2 10_1:_ £ -|_Std Dev 0
L E = E ) 1
x n a n > I *| Entries 0
‘S F - 8 ------ -| Mean 0
— - - fe)) Std Dev 0
0102 102 £
E F . -3
F F S10
I I <
- - 4=
o
103 10%F 1% § ______ |std Dev c]v
E E %S 9, ? Entries 0
o o Snstant Q§§§ Mean 0
B o : . lGia . l%‘m Dev
: : 107
1074 1074 : d
C F ] | | L L P
o 1.V0 ] ] o 1.V0 ] [] N o
A It A - 5
@ [ N N 2 [ A H 24
1+-+ . S PP 1 + SRR TP
0.95L H i K L A H
-6 -4 -2 2 4 6
X X
[ RecoPVAssoc
Hes —2 Entries 0
> ge[ 0.0 010 7| En
o, ey, 2 o | Mean 0
=10 %ﬂﬁﬂ —O.% 4 5 -| Std Dev 0
= H H L (] Pl s 1
> > e *| Entries 0
B 8 Mean 0
= [o)) Std Dev 0
> O B S SR 1
, @
o 10 - e ERIES g BB QO T s e Entries 0
f. -3 ) Mean 0
o 10 -|_Std Dev
> -
— Entries
S Mean 0
_3 = -
------------------------------- > Std Dev 0
10 g k- T
.................. Entries 0
Mean 0
Std Dev 0
O e 0 1 (X LAt || RERAEAid IR (0l -t B Al ||
o J..VJ- ] ] o Vo ]
g f HITHAA gt 5
o [ ; : 14 [ :
4=-- g § 4=--- - 5
0.95L i : ! i 0.95L i i i ] i
=6 -4 -2 0 4 6 =6 -4 -2 2 4 6
y y

[ RecoPVAssoc2GenPVMatched_PullZ |

=
o
N

Pull of z for PV

=
o
b

107

Ratio

0.95
-6

[ RecoAllAssoc2GenMatched_PullZ

107

| RecoAllAssoc2GenMatchedMerged_PullZ

01072
[0}

Pull of z for merged vertic
S
w

107

*|_std Dev

*4 Entries 0 pd!
:| Mean 0
Std Dev 0
Entries 0 pd!
Mean 0
Std Dev 0
Entries 0 pd_l
Mean 0

AIA Entries

Std Dev

.| Mean 0
Std Dev 0

A Entries 0 pa!
Mean 0

Ratio




	Contents
	Page 1


